

Department of Health between 1986 and 2007. During 22 years, there were 30867 fatal cases of submersion and suffocation in Taiwan, and involved more men (73%) than woman (23%). Children aged 1-4 years (N=2493, 8.3%), under 1 years (N=2408, 7.8%) and 15-19 years (N=2318, 7.5%) were high risk age groups. Submersion (74%) was the leading causes of these fatal cases, followed by suffocation of foreign bodies (10.6%) and food (8.9%). Showing a tendency of decrease by sex, age and types, the mortality rate of submersion and suffocation was 3.64/100,000 (males 9.3/10,000; female 3.6/100,000), and the age preference was over 85 years (3.4/100,000). The highest mortality rate was in submersion (an average of 4.95/100,000), which rate decreased largest during 22 years (from 7.9 to 2.2), the age preference were 1-4 years and over 75 years. Suffocation by foreign bodies overtook that by food and became the second leading cause of death since 1998. The aged preference was under 1 year and over 80 years. This finding suggests that government should enhance the submersion prevention programs for people who aged 1-4 years and over 75 years in the future.

FP-079

Method-Specific Suicide Rates in Kaoshiung City, 1994-2006

Hui-Li Liu¹, Hong-Chung Wang², Shih-Wei Wang³

1. Kaohsiung Medical University, Taiwan

2. Veterans General Hospital-Kaohsiung, Taiwan

3. St. Domin High School, Taiwan

Background Method-specific suicide trends varied across countries, and studies of the trends in different countries can contribute to the understanding of the epidemiology of suicide. The purpose of this study was to examine the changes in suicide trends by sex, age and method in the years 1994 to 2006 in Kaoshiung City. Methods Mortality data files of suicide and undetermined deaths for the years 1994-2006 were obtained for analyses. Age-, sex- and method-specific suicide rates were calculated by seven age groups (0-14, 15-24, 25-44, 45-64, 65-74, 75-84 and ≥ 85 years old) and five suicide methods (solids/liquids poisoning, other gases poisoning, hanging, jumping, and others). Results Both sexes experienced upward trends from 1994 to 1999, and then an upward trend since 2000. People aged 85 years and above had the highest suicide rates throughout the study periods. However, females aged 25-34 years and males aged 35-54 years experienced the steepest increasing trends. As to suicide methods, an annual increase, since 1994, of people jumping from heights to commit suicide, and a marked increase, since 1999, of people completing suicide by poisoning with other gases (mainly charcoal-burning) were observed. Conclusion Suicide by measure of charcoal-burning and jumping from heights has become a serious public health problem in Kaoshiung City. Preventive measures to curb these increasing trends are urgently needed.

FP-080

Gender Differences in Types of Injuries at Different Age Levels

Yi-Heng Huang, Lu Pai

Taipei Medical University, Taiwan

Purpose: This study is to analyze gender differences for all types of injuries in different age groups. Methods: Injury data of Neihu District of Taipei City were drawn out from injury surveillance system of Taiwanese Injury Prevention and Safety Promotion Association. A total of 16013 cases registered during the period of January 1, 2005 to December 31, 2008. Results: In general, age groups of 15-24 years and over 65 years have higher injury rate; and over all gender ratio of male to female is 1.43:1. The gender difference is affected by age levels and types of injuries. For intentional injuries, females are the main victims of domestic violence, whereas males are usually injured from homicide and infliction by other persons. As to unintentional injuries, more males than females were seen for most of types of injuries except for injuries from animals and plants and poisoning. In traffic accident, driver victims are mostly males and passenger victims are mostly females. At age 45 or above, more females suffered from falls than males. Men tend to be involved in human caused unintentional injuries more than women by 2.32 times. Conclusion: Gender difference varies according to types of injuries and age levels. We must put gender, age, and situation into consideration when planning an injury prevention program. Preventive tactic should be evaluated with more profound data analysis to show its effectiveness.

FP-081

Association between Obesity and Low Back Pain among Taiwanese Adults

Hsiao-Yun Hu¹, Likwang Chen², Nicole Huang³, Yiing-Jenq Chou³, Pesus Chou³

1. Ching Kuo Institute of Management and Health, Taiwan

2. National Health Research Institutes, Taiwan

3. National Yang-Ming University, Taiwan

Objective: To examine the association between low back pain (LBP) and obesity. Methods: This was a retrospective cohort study. Data from two sources were used: the 2001 National Health Interview Survey (NHIS) data and the 2002-2004 National Health Insurance (NHI) claim data. Our sample consisted of 12,862 adults who were aged 18 years or older in 2001 and gave consent to the linkage of their survey data with corresponding NHI claims data. We defined "obesity" according to the WHO-Asia Pacific categories of Body Mass Index (BMI in kg/m²). Cox's proportional hazards regression was used to identify factors associated with LBP.

Results: Being overweight or obese was associated with a higher risk of LBP ($P < 0.01$). Relative to normal weight adults, the HR of injury were 1.20 (95% CI: 1.09-1.31) for overweight adults, 1.17 (95% CI: 1.07-1.28) for obese class I adults and 1.28 (95% CI: 1.08-1.52) for obese class II adults.

Conclusions: Persons having a BMI equal to or higher than 30 have a higher risk of LBP than other groups. Policy interventions should be taken to decrease such inequality and more research is required to identify aids and services that can effectively help people prevent excess risks of having LBP.

FP-082

The Study of Relationships between Perception of Patient Safety Culture and Morale of Nursing Staff ***Li-Chun Chang¹, Heng-Chia Chiu², Hui-Ying Cheng¹***

1. *Zuoying Armed Forces General Hospital, Taiwan*
2. *Kaohsiung Medical University, Taiwan*

Objectives: Nurse is the major work force at healthcare industry. The attitude and perception of patient safety is key to patient safety. Relationship between perception of patient safety culture and nursing morale has not been examined. The aim of the study was to explore the relationships between patient safety culture and morale, and further to identify predictors of nursing morale. Methods: A cross-sectional study design was conducted for this study. Two instruments were used. One is Chinese version of patient safety culture which was originated developed by Agency for Health Care Research and Quality (AHRQ); and another is moral questionnaire which have been validated in many studies. Data were collected from 6 acute general hospitals at southern Taiwan. In total, 923 nurses completed the study, represented 78% response rate. Correlation and multiple linear regressions were performed by SPSS for Window. Results: The value of Cronbach's α of patient safety culture and moral was 0.894, and 0.927 respectively. The correlation coefficient between three dimensions of patient safety (organization level, unit level and outcome) and two dimensions of morale (satisfaction and recognition of working environment) were range from 0.43 to 0.53 ($p > 0.001$). While controlling for demographic variables, year at position, frequency of contact with patients, and three dimensions of safety were significant associated with morale score. Implications: It is suggested that nursing morale can be enhanced by patient safety culture. Nursing directors need to develop strategy to increase better understanding of patient safety culture.

FP-083

Socio-Economic Determinants of Menstrual Regulation Acceptors in Bangladesh: A Study at Mohammadpur Fertility Services and Training Centre

Islam Syed Ataharul¹, Haque Md. Rabiul², Ghafur Tehmina²

1. *Asian Development Bank, Australia*
2. *Department of Population Sciences, Bangladesh*

Menstrual Regulation (MR) services are available in Government's family planning program as a family planning method though induced abortion is illegal unless for clinical reasons. Several studies have been carried out to evaluate reported abortion, estimate trend of induced abortion, role of abortion to fertility etc. in different part of Bangladesh, particularly in Matlab area. But limited study has been carried out to understand the socio-economic condition and factors compelling women to take MR services in Bangladesh. This study focuses on the socio-economic conditions and factors compelling women to receive MR services at Mohammadpur fertility services and training centre (MFSTC), Dhaka, Bangladesh. Education, income, employment status, age at marriage, age at first pregnancy, number of living children, and role of husband in decision process have been found important determinants to MR in Bangladesh. Though education level of higher secondary and above, the percentage of MR service receiving patient is found significantly low. Most of the patients are with no income and percentage of women with relatively smaller income is very low. Lower age at marriage and age at first pregnancy are found as an important cause of MR in the centre (Please make it clear what do u want to say). Though MR is a highly personal decision, husband and other family member plays an important role in the decision making process.

FP-084

Dietary Habits of a Group of Suburban Adolescent School Children in Sri Lanka

Shreenika H Weliange¹, Pushpa Fonseka²

1. *University of Colombo, Sri Lanka*
2. *University of Sri Jayawardenapura, Sri Lanka*

Introduction: Adolescence is a period of developing varying patterns of eating independent of the family, with behaviours such as skipping meals, taking snacks, trying unconventional food, consuming excessive amounts of fast foods and artificial soft drinks.

Objectives: To describe the dietary pattern of sub urban adolescents in Sri Lanka.

Methodology: A descriptive cross sectional study was carried out among grade eleven school children (mean age 16.1, SD =0.4) in public schools in the Kalutara Medical Officer of Health area. A food frequency questionnaire with a 7 day recall, and a self administered questionnaire was used to study 639 students adopting a cluster sampling method with probability proportionate to size.

Results: Most of the students (93.9%) have consumed rice daily or more. Nearly 11% had not taken their breakfast, while only 4.4 % and 5.9 % had missed their lunch and dinner respectively. More than 93% of the